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Question: 1
Which one or more of the following numbers are irrational?
1 1
a) =« b) 3 c) > d 12 e) /289
Question: 2
Determine the value of a given: 347 +a«7 =127 then:
a=
Question: 3
Determine the value of b given: 3v12 +b+/48 = 264/3 then:
b=
Question: 4
If 44 /7 x\/a is rational and a is a natural number such that 1< a <100 then the value of a
must be:
a=
Question: 5

Givena>0and b > 0 then 5y32a‘b® in simplest form is equal to:
a) 9a’’2b b)) 20a®'V2b ¢) 9ah*2  d) 2022 €) 80ah2

Question: 6

If 2\/1_8+ a+/10a = 31\/5 then a is equal to:

a) 5 b) 8 c) 18 d) 29 e) None of these
Question: 7

Given (\E+\E)(\E—\E) is rational then which one of the following is possible?

a) a=5and b=2 b) a=25and b=4

c) a=4and b=25 d a=+2 and b=+5

e) a=+5 and b=+2

Question: 8
If x=4—-+/3 which one of the following will produce a rational result?
a) X b) x*-4 c) x*—4x+3 d) x*-—8x+14 e) None of these
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Question: 9
11 27+7 simplifies to:
27+7 2J7-7
g &7 p 87 0 1 d -2 & 0
3 3
Question: 10
Given 3\/5(\/5+4\/§) is rational, the values of a, b and ¢ respectively could be:
a) a=2,b=3andc=3 b) a=3,b=2andc=3
c) a=3,b=3andc=2 d a=2,b=12andc=4

e) a=2,b=2andc=2
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